
10544 10544.5 10545 10545.5 10546
cyclenum

1

1.5

2

2.5

3

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

3.5−

3−

2.5−

2−

1.5−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

8153

8153.5

8154

8154.5

8155

8155.5

8156

8156.5

8157

ru
n

run:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8155}



10544 10544.5 10545 10545.5 10546
cyclenum

82−

81.5−

81−

80.5−

80−us
l_

1X
usl_1X:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

9.5−

9−

8.5−

8−

7.5−

us
l_

4a
Y

usl_4aY:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

13

13.5

14

14.5

15

us
l_

4e
X

usl_4eX:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

27.5

28

28.5

29

29.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

42−

41.5−

41−

40.5−

40−us
l_

12
X

usl_12X:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

8153

8153.5

8154

8154.5

8155

8155.5

8156

8156.5

8157

ru
n

run:cyclenum {run == 8155}



10544 10544.5 10545 10545.5 10546
cyclenum

124−

123.5−

123−

122.5−

122−us
r_

1X

usr_1X:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

14.8−

14.6−

14.4−

14.2−

14−

13.8−

13.6−

13.4−

13.2−

13−

12.8−

12.6−

us
r_

4a
Y

usr_4aY:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

173

173.2

173.4

173.6

173.8

174

174.2

174.4

174.6

174.8

175

175.2

us
r_

4e
X

usr_4eX:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

27.6

27.8

28

28.2

28.4

28.6

28.8

29

29.2

29.4

29.6

29.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

42−

41.5−

41−

40.5−

40−

us
r_

12
X

usr_12X:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

8153

8153.5

8154

8154.5

8155

8155.5

8156

8156.5

8157

ru
n

run:cyclenum {run == 8155}



10544 10544.5 10545 10545.5 10546
cyclenum

16567.6

16567.8

16568

16568.2

16568.4

16568.6

16568.8

16569

16569.2

16569.4

16569.6

16569.8

us
l_

co
il1

usl_coil1:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

2287.5

2288

2288.5

2289

2289.5

us
l_

co
il3

usl_coil3:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

5295.6

5295.8

5296

5296.2

5296.4

5296.6

5296.8

5297

5297.2

5297.4

5297.6

5297.8

us
l_

co
il4

usl_coil4:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

3434−

3433.5−

3433−

3432.5−

3432−

us
l_

co
il6

usl_coil6:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

6102.5

6103

6103.5

6104

6104.5

us
l_

co
il7

usl_coil7:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

8153

8153.5

8154

8154.5

8155

8155.5

8156

8156.5

8157

ru
n

run:cyclenum {run == 8155}



10544 10544.5 10545 10545.5 10546
cyclenum

15123−

15122.5−

15122−

15121.5−

15121−

us
r_

co
il1

usr_coil1:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

2005.5−

2005−

2004.5−

2004−

2003.5−us
r_

co
il3

usr_coil3:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

5238

5238.5

5239

5239.5

5240

us
r_

co
il4

usr_coil4:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

3308.8−

3308.6−

3308.4−

3308.2−

3308−

3307.8−

3307.6−

3307.4−

3307.2−

3307−

3306.8−

3306.6−

us
r_

co
il6

usr_coil6:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

35144.2

35144.4

35144.6

35144.8

35145

35145.2

35145.4

35145.6

35145.8

35146

35146.2

35146.4

us
r_

co
il7

usr_coil7:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

8153

8153.5

8154

8154.5

8155

8155.5

8156

8156.5

8157

ru
n

run:cyclenum {run == 8155}



10544 10544.5 10545 10545.5 10546
cyclenum

126.4−

126.2−

126−

125.8−

125.6−

125.4−

125.2−

125−

124.8−

124.6−

124.4−

124.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

11.6

11.8

12

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

228

228.5

229

229.5

230

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

232−

231.5−

231−

230.5−

230−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

24.5−

24−

23.5−

23−

22.5−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

238.2

238.4

238.6

238.8

239

239.2

239.4

239.6

239.8

240

240.2

240.4

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8155}



10544 10544.5 10545 10545.5 10546
cyclenum

288.6

288.8

289

289.2

289.4

289.6

289.8

290

290.2

290.4

290.6

290.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

119−

118.5−

118−

117.5−

117−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

42.8−

42.6−

42.4−

42.2−

42−

41.8−

41.6−

41.4−

41.2−

41−

40.8−

40.6−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

266.5

267

267.5

268

268.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

146−

145.5−

145−

144.5−

144−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

34.8−

34.6−

34.4−

34.2−

34−

33.8−

33.6−

33.4−

33.2−

33−

32.8−

32.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8155}



10544 10544.5 10545 10545.5 10546
cyclenum

236.8−

236.6−

236.4−

236.2−

236−

235.8−

235.6−

235.4−

235.2−

235−

234.8−

234.6−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

87.5−

87−

86.5−

86−

85.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

1

1.5

2

2.5

3

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

3.5

4

4.5

5

5.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

537−

536.5−

536−

535.5−

535−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8155}

10544 10544.5 10545 10545.5 10546
cyclenum

8153

8153.5

8154

8154.5

8155

8155.5

8156

8156.5

8157

ru
n

run:cyclenum {run == 8155}
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